
GRAPHS 

f(x) = |x|  

 

If we consider f(x+2), it shifts left by 2 units 

 

If we consider –f(x), it gets mirrored in the X-Axis. 

 

If we consider f(x-2), it shifts right by 2 units. 

If we consider f(x) + 2, it shifts up by 2 units. 
 

If we consider f(2x) or 2f(x) ,the slope doubles and 
the rise and fall become much sharper than earlier 

 

If we consider f(x) – 2, it shifts down by 2 units. 
 
 

If we consider f(
 

 
)  or 

 

 
 f(x), the slope halves and 

the rise and fall become much flatter than earlier. 

 

 


